
Page 13-30

13
E

7

3

5

6

8

1

4

4

5

6

9

2

8

TYPICAL
4 PLACES

TYPICAL
2 PLACES

11

12

10

3

8

8

TYPICAL
2 PLACES

7

12

13

1

TYPICAL
2 PLACES



ITEM PART NO. DESCRIPTION

 1    2    3    4 

Page 13-31

13
E

QTY

1 1017237 NUT, HEX FLANGED LOCK, 5/16 - 24 .................................................................................... 4

2 1018882-01 TAB, MOUNTING ..................................................................................................................... 2

3 1015069 SCREW, HEX HEAD, 1/4 - 20 x 3/4 ........................................................................................ 2

4 1011931 WASHER, FLAT, 1/4 ................................................................................................................ 2

5 0000451 WASHER, LOCK, 1/4 .............................................................................................................. 2

6 0001028 NUT, HEX, 1/4 - 20 .................................................................................................................. 2

7 1018028 NUT, SERRATED, #10 - 32 ...................................................................................................... 4

8 1019344-01 WASHER, FLAT, BRASS, 5/16 ................................................................................................ 4

9 1019644-01 MODULE, ENERGY DISPLACEMENT  .................................................................................. 1

10 1019579-01 BRACKET, MOUNTING ........................................................................................................... 2

11 1012285 SCREW, THREAD-ROLLING, 1/4 - 20 x 5/8 ........................................................................... 4

12 1018836-01 SOLENOID, 48 VOLT ............................................................................................................... 2

13 1019026-01 BOOT, WIRE ............................................................................................................................ 1

SOLENOIDS, ENERGY DISPLACEMENT MODULE
POWERDRIVE PLUS VEHICLE


